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Pascal




Pasca : Z=X+Y

COPY AX,X
T~ ADD AX,Y

COPY CN1,AX
COPY AX,CN1
COPY Z,AX

0010110100100
0110101010001

0011001000100
1100100101101

0110110100001




Pascal

COPY AX,X
ADD AX,Y
COPY CN1,AX
COPY AX,CN1
COPY Z,AX




Pascal

L. =X+Y

Pascal

COPY AX,X
ADD AX,Y
COPY CN1,AX
COPY AX,CN1
COPY Z,AX




X = (Y * X)

X = (Y * X)

<1>; = (<I>, * <1>)
<1>; = (Ke>, + <e>)
<I>; I= <e>g

<S>,

(R1
(R2
(R5
(R1

W " &



| love you.

I love you

>, love < >,
;< >, < >
4 < >, < >
< >, < >,
< >, < >

(E17
(E18
(E6
(E9

(E12
(E3

W o/ W



| love you.

< >
>, < >;< >,
>, < > < >,
>, < > < >
>, < > < >
>, love < >

1 love you

(E3)
(E12)
(E9)
(E6)
(E18)
(E17



E3: < >, —*< >, < >, < >,
M(< > M(< >)  M(<  >3)
E12: < >, > < >

M(< >3) = M(< >5)

E9: < > —> < >

M(< >,) = M(< >6)

E6: < >, = < >,



E18: < >, — love
M(< >5) —

E1l/7: < >, — I

M(< >7) —

El7: < > —

you



M(< >) M(K >,) M(<
M(< >) = M(< >.)

M(< >) = M(< >c)

M(< >) =

M(< >) =

M(< >) =

M(< >) W& >3) M(<  >3)



R3:
R1:

R2:

R1:



R2: <e>, — <i>,

M(<e>;) = M(<i1>,)
code(<e>;) =



R3: <s>, — <i>, 1= <e>,

code(<s>;) = code(<e>;)
COPY AX,M(<e>;)
COPY M(<i>,),AX

R3: <s> — <1>; I= <e>;

code(<s> ) = code(<e>;)
COPY AX,M(<e>;)
COPY M(<i>,),AX



code(<s>;) = code(<e>;)
COPY AX,M(<e>;)
COPY M(<i1>,),AX

M(<1>,) = X

M(<e>3) = M(<1>,)
code(<e>;) =

M(<1>,) =Y

copye AsexO<i>,)

CORYY XARXM(<e>3)
COPY M(AX>,),AX



R1,R2,R3

R1: <i>j —> abcde

M(<1>;) = abcde

R2: <e>; —» <i>j

M(<e>;) = M(<1>j)
code(<e>;) =

R3: <s> — <i>j 1= <e>;

code(<s> ) = code(<e>;)
COPY AX,M(<e>;)
COPY M(<i>;),AX



R4

R4: <e>; — (<e>j + <e>))

M(<e>;) = createname
code(<e>;) = code(<e>;)
code(<e>,)
COPY AX,M(<e>;)
ADD AX,M(<e>)
COPY M(<e>;),AX




createname

createname

M(<e>,) = createname

M(<e>y) = createname

CN1

M(<e>;)

|\-/li;e>9)

CN2




RS

RS- <€>j —  (<e>; * <e>))

M(<e>;) = createname
code(<e>;) = code(<e>;)
code(<e>,)
COPY AX,M(<e>;)
MUL AX,M(<e>))
COPY M(<e>;),AX




Z:=(X+Y)

<e>3

1= <e>,
=(<e>, + <e>;)
-A(<I>;, + <e>; )

=(X + <e>; )

(X + <i>;)
X +Y)

R3:
R1:

R4 :
R2:

R1:
R2:
R1:

<S>, — <I>, I= <e>,
<i>2—> Z

<€>; — (<e>, + <e>;)
<e>, — <I>g

<i>6 — X

<e>; — <I>,

<i>7 — Y



R3: <s>;, — <I>, I= <e>;

code(<s>;) = code(<e>;)
COPY AX,M(<e>;)
COPY M(<1>,),AX

code(<s>,) code(<e>;)
COPY AX,M(<e>;)
COPY M(<i1>,),AX



M(<1>,) = Z
code(<e>,) code(<e>;)
COPY AX,M(<e>;) COPY AX,M(<e>;)

COPY M(<i>,),AX COPY Z,AX



R4- <e>; — (<e>, + <e>;)

M(<e>;) = createname
code(<e>;) = code(<e>,)
code(<e>y)
COPY AX,M(<e>,)
ADD AX,M(<e>;)
COPY M(<e>,),AX
code(<e>,)
code(<e>;)
code(<e>;) COPY AX,M(<e>))
COPY AX,M(<e>;) ADD AX,M(<e>;)
COPY Z,AX COPY CN1,AX

COPY AX,CN1
COPY Z,AX



R2: <e>, — <i>g

M(<e>,) = M(<1>p)
code(<e>,) =

code(<e>,)

code(<e>,) code(<e>z)

COPY AX,M(<e>,)
ADD AX,M(<e>)
COPY CN1,AX
COPY AX,CN1
COPY Z,AX

COPY AX,M(<i>y)
ADD AX,M(<e>y)
COPY CN1,AX
COPY AX,CN1
COPY Z,AX



R1: <i>;, — X

M(<I>y) = X
code(<e>;) code(<e>;)
COPY AX,M(<i1>y) COPY AX,X
ADD AX,M(<e>y) ADD AX,M(<e>y)
COPY CN1,AX COPY CN1,AX
COPY AX,CN1 COPY AX,CN1
COPY Z,AX COPY Z,AX



R2: <e>; — <i>,

M(<e>) = M(<i>,))

code(<e>.) =
code(<e>;) COPY AX,X
COPY AX,X ADD AX,M(<i>,)
ADD  AX,M(<e>5) COPY CN1,AX
COPY CN1,AX COPY AX,CN1
COPY AX,CN1 COPY Z,AX

COPY Z,AX



M(<1I>;) =Y
COPY AX,X COPY AX, X
ADD AX,M(<i>) ADD AX,Y
COPY CN1,AX COPY CN1,AX
COPY AX,CN1 COPY AX,CN1

COPY Z,AX COPY Z,AX
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